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1.  Introduction
In the email discussion [106#70][NR-U] Configured Grant (LG), RAN2 made following proposals.

Proposal 1: The CG retransmission timer value is configured per configured grant configuration (i.e., ConfiguredGrantConfig) and the CG retransmission timer is maintained per HARQ process.
Proposal 2: Autonomous retransmission on CG resource is prohibited for a HARQ process while the CG retransmission timer for the HARQ process is running. New transmission on CG resource is also prohibited for the HARQ process while the CG retransmission timer is running because the CG timer is always running when the CG retransmission timer is running.
Proposal 3: Both CG timer and CG retransmission timer are used at the same time for a HARQ process.
Proposal 4: The value of the CG retransmission timer is shorter than the value of the CG timer.
Proposal 5: The CG timer is not restarted at autonomous retransmission on CG resource after the CG retransmission timer expiry.
Proposal 6: The UE does not stop the CG timer upon NACK feedback reception, and stops the CG timer upon ACK feedback reception.
Proposal 7: Discuss how to avoid PDU overwritten issue due to LBT failure.
Proposal 8: From RAN2 perspective, CS-RNTI is used for scheduled retransmission, and C-RNTI is used for new transmission, similar to NR CG. Final decision on this should be confirmed by RAN1.
In this contribution, we show our view on the remaining issue related to the proposal 4 above. 
2.  Discussion

Even if the Proposal 4 above is agreed, the retransmission opportunity may not be always guaranteed for the UE. This is because after expiry of the CG retx timer, if no CG resource for the same HARQ process is available until the CG timer expires, the UE cannot perform retransmission on the CG resource until the CG timer expires. Even though CG resource for the same HARQ process is available before expiry of the CG timer, the UE may not perform retransmission on the CG resource due to LBT failure. 
In the example shown in Figure1, the UE performs new transmission of the MAC PDU#1 at the time point T1. After PDU#1 corresponding to HARQ process ID (PID) #1 is transmitted, both the CG retx timer and the CG timer are started.
The concerned case is after expiry of the CG retx timer. As no CG resource for the HARQ PID#1 is available at the time point T3, the UE cannot perform the retransmission of the MAC PDU #1 at the same time point. At the time point T4, the UE shall consider MAC PDU #1 transmission successful. 

Referring to Figure 2, the UE behaviour is same until the time point T2 in Figure1. As the channel is determined to be busy due to LBT failure at the time point T3, the UE cannot perform the retransmission of the MAC PDU #1 at the same time point. At the time point T4, the MAC PDU #1 shall be considered as transmission successful. 

To sum up, after expiry of the CG retx timer, despite the fact that the UE cannot perform the retransmission of the UL data until the CG timer expires, the UE shall consider this UL data transmission successful upon the CG timer expiry. 
In this regard, we need to study how to ensure retransmission opportunity for the UE in these cases.

Proposal: Study how to ensure retransmission opportunity for the UE in case when there is no retransmission opportunity between expiry of the CG retx timer and expiry of the CG timer. 
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Figure 1 no CG resource for the same HARQ process between T2 and T4
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Figure 2 no chance of retransmission opportunity due to LBT failure between T2 and T4
3. Conclusion

In conclusion, we propose the followings:
Proposal: Study how to ensure retransmission opportunity for the UE in case when there is no retransmission opportunity between expiry of the CG retx timer and expiry of the CG timer. 
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